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AN sg€II=4dH
M HY2ILH (sgIl=sn)
chel: ol 2y (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
ZEEAY 2% NJA(ELZEA)(XA) 11,000 0 11,000
101 @14 Hl 11,000 0 11,000
03 RIHAZZ2HE =+ 11,000 0 11,000
OELZFA 2AdHl X= 11,000
JlE &3l 51,550 50,350 1,200
gy (sd=sgd) 29,050 27,850 1,200
201 LB-2dH| 8,450 8,450 0
01 At 22l 8,450 8,450 0
OZM2Y Let=EHl 6,000
O2N2E Sl 2,450
202 o4l 16,400 16,400 0
01 = LH YI 16,400 16,400 0
O=M2g Kl 1,400
O=UW0 bl 15,000
203 YR =] 4,200 3,000 1,200
04 BENSSHRF=EHI 4,200 3,000 1,200
ORN2g g% 4,200
2yl (A sE) 4,500 4,500 0
202 O4dl 4,500 4,500 0
01 = LHAYI 4,500 4,500 0
O3 HI 4,500
gyl (2uzsd) 9,000 9,000 0
202 oddl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
O=otl 9,000
Jl2Ztl(otsd) 9,000 9,000 0
202 oddl 9,000 9,000 0
01 SLHOYI 9,000 9,000 0
O=Waotl 20,0003 x3H 150 9,000




